CHAPTER 1:
EXA

1) 28x + 35

6) 7x-1

10) 4x% + 4x — 24
ExB

1) x*—2x+1

5) 9x?-1

CHAPTER 2
ExA
1) 7
ExB
1) 2.4
ExC
1) 7
ExD
1) 34, 36, 38

2) 3 3) 1%

2)5 3)1

2) 15

CHAPTER 3
1) x=1,y=3

3) 24/7

SOLUTIONS TO THE EXERCISES

2) -15x + 21
7) X2 +5x+6
11) 4921

2) 9x? + 30X + 25
6) 25y 9

42 5) -35
4) v
4) 35/3

2) 9.875, 29.625

2) x=-3,y=13) x=0,y=-24) x=3,y=1

5) a=7, b=-26) p=11/3, q=4/3

CHAPTER 4
ExA

1) x(3+Y)

7) (y-1)(5y +3)
ExB

1) (x=3)(x+2)
6) y+3)(y+7) 7)
11) 4(x-2)(x-1)

CHAPTER 5
ExXA
1) x:y7+1 2) x=4y-5 3) x=3(4y+2) 4) x=
ExB
2
1y t=22P 2)t=J_rfE =t oL gyt
w W zh 2
ExC
1) X:c—3 2) =3a+2k 3 X:2y+3 1) x= ab
a—b k-3 Sy — b-
CHAPTER 6
) a)-1,-2 b)-1,4 c) 53 2) a) 0,-3
3) a) -1/2,4/3 b) 05,25 4) a) -5.30, -1.70

d) no solutions

CHAPTER 7
Ex A

1) 506 2) 6¢’ 3) bc* 4) -12n® 5) 4n® 6) d? 7) af

Ex B

1)2 2)3 3) U3 4)1/25 51 6) 17 7)9 8) 94 9) ¥
15) xy?

13) 6a° 14) x

1

2) (x+8)(x-2)

e) no solutions

2) 2x(2x-y) 3) pa(@-p) 4) 3q(p-30)

(7y-3)(y-1)

12) (4m—9n)(4m + 9n)

5) 3

3) 2x+D(x+2)
8) 5(2x —3)(x + 2)

3) -7a+4
8) t2—3t—10
12) 12+ 17x - 5x2

3) 49x2-28x +4

6) -7/3

6) 2 7) 95

3) 24, 48

f) no solutions

8) 5

5) 2x¥(x - 3)

4) x(2x —3)
9) (2x +5)(2x - 5)
13) y(2y - 3a)(2y + 3a)

b) 0, 4
b) 1.07, -0.699 c) -1.20, 1.45

8) _d12

4) 6y +3y?
9) 6x2+xy—12y?

4) x2-4

9y +20

5)t=v—@
w
) 2,-2

6) 4a’h?(2a?- 3b?)

5) (3x-1)(x+2)

10) (x—3)(x-Y)
14) 2(4x + 5)(x —4)

5) 2x—-4

r—a

6) t=|—

b

10) 0.2 11) 4/9 12) 64



CHAPTER 8
ExA

1) 242
2) 543
3) 443
4) 672
5) 3J3

ExB
1) 3J2+410

2) V12 +/48 = 2/3$+ 43

3) 4J5+12

4) 2+23+3+3=5+3y3
5) 9-6v5-3V5+10=19-95
6) 4+2/3+2v5++/15

7) 1+43-2-4/6

8) 64+8v/2-812-2=62

9) 3++15++15+5=8+2/15

ExC
1 _\/§+1
N R JS3-1 2
3 35
P ETs 8) £4_2=4(‘/62+2)=2(\/€+2)
y 4 _48_8_ 5 r T2
Bos e VRT3
3 9 .9 _93_3V3 - i
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CHAPTER 9

3 1 5
ExB: a)y=—x-1 b)y=—=x+4 c)y=2x——
)Y 5 )Y 5 )Y 2

a)gradient = %

ExC :

b)gradient = _72 =-1

. -1
c)gradient = 1° -1
d)gradient =$

. -25 -5
e)gradient =——=—
)9 4 8

: 3

f dient = —

)gradien c

ExD: a) a.y=-x+3 b. y=-0.25x+3 c. y=-3x+3
b) a.y:-%x-B b.y=-6x-3 ¢ y=-x-3

c) ay=-05x-1 b. y:-%x+3 C. y=-4x +2
d ay=-x+1 b.y=x+3 c.y=05x-2
e) a.y:-%x—l b.y=025x+3 c y=-3x-2

f) a. y=4x-2 b.y:%x+4 C. y=-6x



